PEEFRASEFERRIEE R

FFRlRT: RESE, FUAZS AN AE.
%% HHE: 2018-03-15

- FEFisE = SR o REFER/
3 5 2 EoN = WEPAR | LBIRE | oy, [XEEEHR
FMFEE [ ArFER| EE & i
PHIHFG (20T) 3 (F4-24) 15 (°F-450) 11% 20
FEHAP (10T) 0.5(1) ‘ 11% 5
14 (28) 0 7% 5811
FRFEMA (10T) 2 ("F46) 8 ("F-4-18)
12% 10
HEE3, 7, 1154 0.5 8
M (50T) 1 5 15 8% 5% 4-7-10 50
SEFEWH (20T) 2.5CF45 %) | 10 CF45 %) 30% 20% 7-10-13
FUHIFERI (20T) 2.5 8
20
HERIFELR (20T) 8% 5% 4-7-10
3 15
HFEIR (20T)
B A2kSE (5 3(°F49) 15 (°F-4-40)
12% 7% 6-9-12
I EfiESM (5mf) 3CFA6) | 156(CF430)
SEFEIHOT (10T) 2CF5 %) | 15CF45 %) 9% 5% 4-7-10
SEHFRS (10T) . 2 8 40% 20% 10-13-16 10
SZHIRM (10T) 1. 5CF45 %) 14 CP44) 11% 6% 5-8-11
FE4ECF (5T) 5 4.3CF454%) | 20 CF44) 4-7-10 20
SREAAL (10T) 0.5 1.5 7.5 9% 5% WESE S + W TR g
FE#ESR (10T) 1 4-7-10
3 (CF44) 15 P4 %)
PTA (5T) 10
2 10% 6% 5-8-11
PTA3, 7, 1144 0.5 8
webcy (5T) 5 4S5 %) | 30 CF4A %) 8% 5% 4-7-10 2.5
ZhJIHE7C (100T) 4 30
0.2 11% 6% 5-8-11 100
M3, 7, 1154 0.5 8
H—a(10T) 1 2 10 5-8-10 40
AL (10T) 0.5 1 3 WE &5 ST = 1 TR R
S Fm (10T) 0.2
1
THI15944) 1.5
15
Hily (107)
2 2.5
frilip (10T) 1% %
B2 (5T) ; 2 25 5-8-10 10
RRA LW (5T) 2 5 1) 20 (P-4 4)
E R ipp (BT) 0.6/ 6/H
FKe (10T) 0.2 CF5%)
= 8 (T4 %)
FK15954 1 1.2 CF4 %)
FKIEHes (10T) 1.5 10




T b (107) 1 8 8% 5% 4-7-9 40

% XS5 jd (5T) 1/0. 5T 1.5/F 4.5/75 11% 8% 5-8-10 5

FE9% ] (100T)
0.6/7i 100
FEIEIM(60T) 60
j1805 0. 65;()5 ¢
(b0 0.6/7 (A 3'191/.%3/(7?)?‘] 16% 12% 8-11-13
AR 1.8/7) 100
. o5 |06/ cAHM
jm1805 /)
, 0.6/ (HMA
FEIR19ErE 1.8/74) 60
B A1 (100T) 0.06/75 (H
MO0.06/77) 3.4/75 (AW
14% 10% 8-11-13 50
PR 15952 0.6/7i (R | T4
e 1.2/ H)
LR AEMR £ (500) /HHEW | 3/77 (HW . 0 .
B 240D (500) 0.05 0.5/7) o5/ 40% 20% 5-8-10 5
_ 0.5/7i CF4 | 5/7i (7% .
Hilcu (5T) 10 %) ) 12% o e 10
#Bal (5T) 3CFAS ) | 12(CF454) 11% 10
#zn (5T) 5 3CEAS %) | 30 CF4A %)
11% 8% 6-9-11
#pb (5T) 0.4/73 2/ 73
#sn (1T) LCEFS%) | 12CP45 %)
12% 7% 5-8-10
sn (1,5,9) 3CES %) | 12CF4 %)
#ni (1T) 10 1CF5 %) 24 2
: (L5.9) 6 (nil1805°F | 24 (ni1805 12% 8% 6-9-11
e 430) FA60)
0.45/ 7
* #JEru (10T) 5 (rul709°F4 4{,75,\(“1709 13% 9% 7-10-12 40
F456/7)
1.8/73)

# H4Hag (15kg) 1 0.5/73 2.4/75 13% 6% 5-8-11 7.5
#4rau (1000g) 0.05 10 CES %) |60 CEA4) 11% 5% 4-7-9 60
WS rb (10T) v/ 3/Ti 13% 9% 7-10-12

Sbhur (107) 0.4/F5 2/ 73 40% 20% 5-8-10
1
#ekl s biihe (100) el 2.5/73 . 10
1/73 (CF45/ | 2.5/77 (P4 ' % 6-9-11
he1801 ) 15 5)
WFEBU(10T) 2 /7 4/ F 12%
#pbifu (50T) 1 2/F 6/F 45% 40% 5-8-10 50
o | TP~ THI8% | IF. TH15%
1C(200) . IF. 0.0 |02/ TP L2/ 0T CVA |y ooy o | 1esom o4 | 10%: 525 % 5 H 20% /75
IH(300) 6.9/79) 10/73)
20%) 20%)
& " -
TF 3CEA%) | 9(E44) 2. 2% 1. 2% L. 2/’2ﬁ?§5
0. 005 = 5
T REQ ) 9(F4 ) 3% 2. 0% 2%, EriEHA4%




	Sheet1

